Precalc takeaways Name:
Math 3 Unit 2: Logarithmic Functions

Learning targets

2.11 can calculate compound interest. (Modeling)

2.2 I can convert equations between exponential and logarithmic forms. (Algebra)

2.3 1 can graph a logarithmic function and a transformed logarithmic function. (Geometry)
2.4 1 can apply properties of logarithms. (Algebra)

2.5 1 can solve exponential equations using logarithms. (Modeling)
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Compound interest example(s)
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Notation and vocab: log, z = a
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Graphs of logarithmic functions
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Special log notation

e log = means 10810 Z, This is the “common log”.
e Inz means 198 Z, This is the “natural log™.
Properties of Logarithms
Logarithm of a product:
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Change of base
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Continuous exponential growth
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